# A Note on Hilbert Series of Free Metabelian Lie Algebras 

Andre Dushimirimana


#### Abstract

Let $F_{m}$ be the free metabelian Lie algebra of finite rank. In the present work we propose an elementary proof in computation of Hilbert series of $F_{m}$.


Keywords: Free metabelian Lie algebras, Hilbert Series.
Msc2010: 13D40, 17B30

## 1. INTRODUCTION

In $19^{\text {th }}$ century the concept of Hilbert (or Poincaré) series was introduced in terms of finitely generated commutative algebras over a field $K$, where the generating series of the Hilbert function are related with $K$ linear dimension of the graded or filtered algebra. In 1890 Hilbert proved how the sum of Hilbert series is always a rational function allowing a finite description of such an invariant and is known as a fundamental property of a finitely generated commutative algebra. In 1927 Francis Sowerby Macaulay proved how the Hilbert series of a commutative algebra is equal to the series of a corresponding monomial algebra, that is an algebra whose generators are related by monomials and this monomial is defined by leading monomial ideal with respect to a suitable monomial ordering. For more see [1,2,3,4,5].

The polynomial algebra $K\left[X_{m}\right]$ is free in the class of all commutative algebras. Since the Hilbert series of polynomial algebra has structure of finitely generated commutative algebras then is a rational function for more see in $[6,7,8]$ together with ideas of classical invariant theory in $[9,10]$. For more historical background, see the chapter 1-2 of [11] and [12,13] for the basic facts regarding Lie algebras, varieties of associative in [14] and Chapter 1 of [15] regarding algebraic geometry.

Andre Dushimirimana, Department of Mathematics, Cukurova University, 01330 Balcali, Adana, Turkey. E-mail: duandosh@yahoo.fr

The work of rational symmetric functions related with Hilbert series in [10] were used in $[16,17]$ where they applied the method of them in order to work in algebra of constants of free metabelian Lie algebras. The categories of metabelian associative and metabelian Lie algebras are interesting and many of researchers have been paying attention among of them are [18, 19, 20] on algebraic geometry of free metabelian Lie algebra, [21] on GröbnerShirshov bases for metabelian Lie algebras, [22,23,24,25] on endomorphisms and automorphisms of free metabelian Lie
algebras, $[26,27]$ on the Backer-Campbell-Hausdorff formula for free metabelian Lie algebras and [28,29] on the categories and classification of metabelian group and Lie algebras respectively.

In the present work, we come out with an elementary proof of formula of Hilbert series of the free metabelian Lie algebras which appears also in $[13,30,31]$ with a proof using graduate techniques in [13].

## 2. PRELIMINARIES

For a graded algebra $A$ over a field $K$, recall that the formal power series

$$
H(A, z)=\sum_{n \geq 0} \operatorname{dim}_{K}\left(A^{(n)}\right) z^{n}
$$

is called the Hilbert (or Poincaré) series of $A$, where $A^{(n)}$ is the subspace of $A$ containing the elements of homogeneous degree $n$. For instance, considering the commutative polynomial algebra $K\left[x_{1}, x_{2}, \ldots, x_{m}\right]$ and non-commutative polynomial algebra $K\left\langle x_{1}, x_{2}, \ldots, x_{m}\right\rangle$ in $m$ variables, we have the followings.

International Journal of Scientific \& Engineering Research, Volume 9, Issue 2, February-2018 ISSN 2229-5518

$$
\begin{aligned}
& H\left(K\left[x_{1}, x_{2}, \ldots, x_{m}\right], z\right)=\frac{1}{(1-z)^{m}} \\
& H\left(K\left\langle x_{1}, x_{2}, \ldots, x_{m}\right\rangle, z\right)=\frac{1}{1-m z}
\end{aligned}
$$

Let $L_{m}$ be the free Lie algebra over the field $K$ of characteristic 0 generated by a finite set $X=\left\{x_{1}, \cdots, x_{m}\right\}$ with $m \geq 2$. Now we define the quotient algebra

$$
F_{m}=L_{m} / L_{m}^{\prime \prime}=L_{m} /\left[\left[L_{m}, L_{m}\right],\left[L_{m}, L_{m}\right]\right]
$$

this is the free metabelian (solvable of length 2) Lie algebra of rank $m$ defined by metabelian identity $\left[\left[t_{1}, t_{2}\right],\left[t_{3}, t_{4}\right]\right]=$ 0. $F_{m}$ is generated by free generators $y_{1}=x_{1}+L_{m}^{\prime \prime}, \cdots, y_{m}=$ $x m+L m^{\prime \prime}$ and this algebra is of a basis consisting of $y 1, \ldots, y m$ together with all left normed monomials of the form:

$$
\left[y_{i_{1}}, y_{i_{2}}, \ldots, y_{i_{k}}\right]=\left[\ldots\left[\left[y_{i_{1}}, y_{i_{2}}\right], y_{i_{3}}\right], \ldots, y_{i_{k}}\right], i_{1}<i_{2} \geq
$$

$i_{3} \geq \cdots \geq i_{k}$.
Let $w \in F_{m}^{\prime}$ and let $x, y \in F_{m}$ be arbitrary elements. Then as a consequence of Jacobi identity we have

$$
[w, x, y]=[w, y, x]
$$

Thus, $F_{m}^{\prime}$ is furnished with a natural structure of module of $K\left[y_{1}, \ldots, y_{m}\right]$.

The following proposition is well known:
Proposition 2.1: Consider equation $n_{1}+n_{2}+\cdots+n_{r}=n$, for $r \in \mathbb{Z}^{+}, n, n_{i} \geq 0$ and $1 \leq i \leq r$. Then number of distinct nonnegative integer solutions satisfying the equation is

$$
\binom{n+r-1}{r-1}
$$

From the Proposition 2.1 we can obtain the number of basis of free metabelian Lie algebra of rank $m \geq 2$.
Let $\mathfrak{B}_{m, n}$ indicate the canonical basis for the homogeneous subspace of degree $n$ in the free metabelian Lie algebra $F_{m}$, and let $\eta_{m, n}$ denote the number of elements in $\mathfrak{V}_{m, n}$ which coincides with $\operatorname{dim}\left(F_{m}\right)^{(n)}$. For example, consider the free metabelian Lie algebra $F_{2}=K\left\langle y_{1}, y_{2}\right\rangle$ with 2 generators. $\mathfrak{B}_{2,1}=\left\{y_{1}, y_{2}\right\} \quad$ and $\eta_{2,1}=2$, while $\mathfrak{B}_{2,2}=\left\{\left[y_{1}, y_{2}\right]\right\}$ and $\eta_{2,2}=1$. In general, $\mathfrak{B}_{2, n}$ contains the elements of the form

$$
\left[y_{1}, y_{2}, y_{2}, \ldots, y_{2}, y_{1}, \ldots, y_{1}\right]
$$

of length $n$. Thus $n-2$ positions are filled by $y_{2} s$ followed by $y_{1} \mathrm{~s}$ after $\left[y_{1}, y_{2}\right]$. Hence the number $\eta_{2, n}$ is equal to the number of nonnegative solutions of equation

$$
n_{1}+n_{2}=n-2
$$

where $n_{1}$ indicates the number of $y_{1} \mathrm{~s}$ and $n_{2}$ stands for the number of $y_{2} \mathrm{~s}$ used in those $n-2$ positions after $\left[y_{1}, y_{2}\right]$. Hence by above proposition we have

$$
\eta_{2, n}=\binom{(n-2)+2-1}{2-1}=\binom{n-1}{1}=n-1
$$

Lemma 2.2: Dimension $\eta_{m, n}$ of $F_{m}^{(n)}$ is

$$
\eta_{m, n}=\binom{n-1}{1}+2\binom{n}{2}+\cdots+(m-1)\binom{n+m-3}{m-1}
$$

Proof: Let us prove this statement by induction on number of generator $m \geq 2$. As illustrated before, it is straightforward to check the formula for $m=2$. Now let

$$
\eta_{m-1, n}=\binom{n-1}{1}+\cdots+(m-2)\binom{n+m-4}{m-2}
$$

and let us explicitly write down the elements of $\mathfrak{B}_{m, n}$. Firstly, it is a direct result that

$$
\mathfrak{V}_{m, n}=B_{2} \cup B_{3} \cup \cdots \cup B_{m-1} \cup B_{m}
$$

where the subset $B_{j}$ is of elements of the form

$$
[,, y_{j}, \underbrace{\left.p_{1}, \cdots, p_{n-2}\right]}_{n-2 \text { position }}
$$

thus $p_{i} \mathrm{~s}$ can be chosen from the set $\left\{y_{1}, \cdots, y_{j}\right\}$. The first place allows $y_{1}, \cdots, y_{j-1}$ and number of elements in $B_{j}$ is $(j-1)$ times number of nonnegative solutions of equation

$$
n_{1}+\cdots+n_{j}=n-2
$$

such that $n_{k}$ indicates number of $y_{k} \mathrm{~s}$ used for those $n-$ 2 places. One must observe from this point that

$$
\left|\mathfrak{V}_{m-1, n}\right|=\eta_{m-1, n}=\left|B_{2} \cup B_{3} \cup \cdots \cup B_{m-1}\right|
$$

hence it is sufficient to show that

$$
\left|B_{m}\right|=(m-1)\binom{n+m-3}{m-1}
$$

the elements of $B_{m}$ are in the form

$$
[-, y_{m}, \underbrace{\left.p_{1}, \cdots, p_{n-2}\right]}_{n-2 \text { position }}
$$

thus $p_{i} \mathrm{~s}$ can be chosen from the set $\left\{y_{1}, \cdots, y_{m}\right\}$. The first place allows $y_{1}, \cdots, y_{m-1}$ and number of elements in $B_{m}$ is ( $m-1$ ) times number of nonnegative solutions of equation

$$
n_{1}+\cdots+n_{m}=n-2
$$

such that $n_{k}$ indicates number of $y_{k} \mathrm{~s}$ used for those $n-$ 2 places. By proposition 2.1, the number is

$$
\left|B_{m}\right|=(m-1)\binom{(n-2)+m-1}{m-1}
$$

which completes the proof.

## 3. MAIN RESULTS

In this section we provide the main results of our objective.
Lemma 3.1: Hilbert Series of $F_{2}=K\left\langle y_{1}, y_{2}\right\rangle$ is

$$
H\left(F_{2}, z\right)=1+2 z+\frac{2 z-1}{(1-z)^{2}}
$$

Proof: Let $F_{2}=K\left\langle y_{1}, y_{2}\right\rangle$ be the free metabelian Lie algebra with generators $y_{1}$ and $y_{2}$. We know that number of elements in homogeneous subspace of degree $n$ is equal to $\eta_{2, n}=n-1$ for $n \geq 2$. The Hilbert Series of $F_{2}$ comes out from this formula:

$$
H\left(F_{2}, z\right)=\sum_{n=0}^{\infty}\left(\operatorname{dim} F_{2}^{(n)}\right) \cdot z^{n}=0+2 \cdot z^{1}+\sum_{n=2}^{\infty} \eta_{2, n} \cdot z^{n}
$$

since $\operatorname{dim} F_{2}^{(0)}=0$ and $\operatorname{dim} F_{2}^{(1)}=2$. Hence, we have

$$
\begin{gathered}
H\left(F_{2}, z\right)=2 z+\sum_{n=2}^{\infty}(n-1) z^{n} \\
=2 z+\sum_{n=2}^{\infty} n z^{n}-\sum_{n=2}^{\infty} z^{n}=2 z+Q-P
\end{gathered}
$$

where $P$ and $Q$ are the power series so,

$$
P=\sum_{n=2}^{\infty} z^{n} \text { and } Q=\sum_{n=2}^{\infty} n z^{n}
$$

We are going to solve this accordingly:
For $P=\sum_{n=2}^{\infty} z^{n}$, from the polynomial algebra we have

$$
\begin{aligned}
& H\left(K\left[y_{1}\right], z\right)=\sum_{n=0}^{\infty} \operatorname{dim} K\left[y_{1}\right]^{(n)} z^{n} \\
= & \sum_{n=0}^{\infty} z^{n}=1+z+z^{2}+z^{3}+\cdots=\frac{1}{1-z} .
\end{aligned}
$$

Recall that in writing the rational formula on right side of equality, we assume that $z$ is a variable lying in the set of real numbers such that the series converges. Thus, we can have derivative in computations.

Now, for $P$ we have $n \geq 2$ therefore our equation becomes

$$
\begin{gathered}
1+z+\sum_{n=2}^{\infty} z^{n}=\frac{1}{1-z} \\
1+z+P=\frac{1}{1-z}
\end{gathered}
$$

and hence

$$
P=\sum_{n=2}^{\infty} z^{n}=\frac{1}{1-z}-(1+z)
$$

Now, for $Q$ we have,

$$
\begin{gathered}
Q=\sum_{n=2}^{\infty} n z^{n}=2 z^{2}+3 z^{3}+\cdots=z\left(2 z+3 z^{2}+\cdots\right) \\
=z\left(\sum_{n=2}^{\infty} n z^{n-1}\right)
\end{gathered}
$$

It is seen that the parenthesis is derivative of $P$, so we obtain,

$$
Q=z \cdot P^{\prime}=z \cdot\left(\sum_{n=2}^{\infty} z^{n}\right)^{\prime}=z \cdot\left[\frac{1}{1-z}-(1+z)\right]^{\prime}
$$

International Journal of Scientific \& Engineering Research, Volume 9, Issue 2, February-2018 ISSN 2229-5518

$$
=z \cdot\left[\frac{1^{\prime}(1-z)-1(1-z)^{\prime}}{(1-z)^{2}}-1\right]=z \cdot\left(\frac{1}{(1-z)^{2}}-1\right)
$$

Hence, we have

$$
Q=\sum_{n=2}^{\infty} n z^{n}=\frac{z}{(1-z)^{2}}-z
$$

Let come back on our Hilbert Series

$$
\begin{aligned}
H\left(F_{2}, z\right)=2 z+Q & -P \\
= & 2 z+\frac{z}{(1-z)^{2}}-z-\left[\frac{1}{1-z}-(1+z)\right] \\
& =1+2 z+\frac{2 z-1}{(1-z)^{2}} .
\end{aligned}
$$

Therefore, the Hilbert Series of free metabelian Lie algebra $F_{2}$ of two generators is:

$$
H\left(F_{2}, z\right)=1+2 z+\frac{2 z-1}{(1-z)^{2}}
$$

Theorem 3.2: For $m \geq 3$, we have that

$$
H\left(F_{m}, z\right)=H\left(F_{m-1}, z\right)+z+\frac{(m-1) z^{2}}{(1-z)^{m}}
$$

Proof: From the direct computation on above Lemma 3.1 we have

$$
\begin{gathered}
H\left(F_{3}, z\right)-H\left(F_{2}, z\right)=1+3 z+\frac{3 z-1}{(1-z)^{3}}-\left[1+2 z+\frac{2 z-1}{(1-z)^{2}}\right] \\
=1+3 z-1-2 z+\frac{3 z-1}{(1-z)^{3}}-\frac{2 z-1}{(1-z)^{2}} \\
=z+\frac{3 z-1-(2 z-1)(1-z)}{(1-z)^{3}} \\
=z+\frac{3 z-1-\left(2 z-2 z^{2}-1+z\right)}{(1-z)^{3}}=z+\frac{2 z^{2}}{(1-z)^{3}} .
\end{gathered}
$$

and,

$$
\begin{gathered}
H\left(F_{4}, z\right)-H\left(F_{3}, z\right)=1+4 z+\frac{4 z-1}{(1-z)^{4}}-\left[1+3 z+\frac{3 z-1}{(1-z)^{3}}\right] \\
=1+4 z-1-3 z+\frac{4 z-1}{(1-z)^{4}}-\frac{3 z-1}{(1-z)^{3}} \\
=z+\frac{4 z-1-(3 z-1)(1-z)}{(1-z)^{4}}
\end{gathered}
$$

$$
=z+\frac{4 z-1-\left(3 z-3 z^{2}-1+z\right)}{(1-z)^{4}}=z+\frac{3 z^{2}}{(1-z)^{4}}
$$

Thus, the formula holds for $m=3,4$.

On the other side, we obtain that

$$
H\left(K\left[Y_{m}\right], z\right)=\sum_{r \geq 0} \operatorname{dim} K\left[Y_{m}\right]^{(r)} Z^{r}=\frac{1}{(1-z)^{m}}
$$

where $Y_{m}=\left\{y_{1}, \ldots, y_{m}\right\}$.
For the dimension of $K\left[Y_{m}\right]^{(r)}$ we need to know the canonical forms of basis elements in $\mathfrak{V}_{K\left[Y_{m}\right]}{ }^{(r)}$. They are in the form

$$
y_{1}^{n_{1}} y_{2}^{n_{2}} \cdots y_{m}^{n_{m}}
$$

such that $n_{1}, n_{2}, \ldots, n_{m} \geq 0, n_{1}+\cdots+n_{m}=r$. By the Lemma 3.1, the number of such elements is

$$
\binom{r+m-1}{m-1}
$$

Hence, we have the new expression for $H\left(K\left[Y_{m}\right], z\right)$ as follows:

$$
\begin{aligned}
H\left(K\left[Y_{m}\right], z\right) & =\frac{1}{(1-z)^{m}}=\sum_{r=0}^{\infty} \operatorname{dim} K\left[Y_{m}\right]^{(r)} z^{r} \\
& =\sum_{r=0}^{\infty}\binom{r+m-1}{m-1} z^{r}
\end{aligned}
$$

Let us multiply the following equality by $z^{2}$

$$
\sum_{r=0}^{\infty}\binom{r+m-1}{m-1} z^{r}=\frac{1}{(1-z)^{m}}
$$

to get

$$
\sum_{r=0}^{\infty}\binom{r+m-1}{m-1} z^{r+2}=\frac{z^{2}}{(1-z)^{m}}
$$

Let $n=r+2$, and rewrite the above formula:

$$
\sum_{n=2}^{\infty}\binom{(n-2)+m-1}{m-1} z^{n}=\frac{z^{2}}{(1-z)^{m}}
$$

$$
\Rightarrow \sum_{n=2}^{\infty}\binom{n+m-3}{m-1} z^{n}=\frac{z^{2}}{(1-z)^{m}}
$$

by multiplying $(m-1)$ and adding $z$ on both sides we obtain

$$
z+\sum_{n=2}^{\infty}(m-1)\binom{n+m-3}{m-1} z^{n}=z+\frac{(m-1) z^{2}}{(1-z)^{m}}
$$

Recall that, by Lemma 2.2,

$$
\eta_{m, n}=\binom{n-1}{1}+2\binom{n}{2}+\cdots+(m-1)\binom{n+m-3}{m-1}
$$

giving the numbers of element in $\mathfrak{B}_{m, n}$, hence

$$
\eta_{m, n}-\eta_{m-1, n}=(m-1)\binom{n+m-3}{m-1}
$$

Rewriting the previous equation, we have

$$
\begin{gathered}
m z-(m-1) z+\sum_{n=2}^{\infty}\left(\eta_{m, n}-\eta_{m-1, n}\right) z^{n}=z+\frac{(m-1) z^{2}}{(1-z)^{m}} \\
\Rightarrow\left(m z+\sum_{n=2}^{\infty} \eta_{m, n} z^{n}\right)-\left((m-1) z+\sum_{n=2}^{\infty} \eta_{m-1, n} z^{n}\right) \\
=z+\frac{(m-1) z^{2}}{(1-z)^{m}} \\
H\left(F_{m}, z\right)-H\left(F_{m-1}, z\right)=z+\frac{(m-1) z^{2}}{(1-z)^{m}}
\end{gathered}
$$

Therefore, we have

$$
H\left(F_{m}, z\right)=H\left(F_{m-1}, z\right)+z+\frac{(m-1) z^{2}}{(1-z)^{m}}
$$

which completes the proof.
The following formula can be found in [13,31], with a proof a proof using young diagrams in [13]. Throughout the paper we use completely undergraduate linear algebra techniques.

Corollary 3.3: The Hilbert series of the free metabelian Lie algebra $F_{m}$ is

$$
H\left(F_{m}, z\right)=1+m z+\frac{m z-1}{(1-z)^{m}}
$$

Proof: Clearly, the formula holds for $m=2$ by Lemma 3.1. Assume that the formula is true for $m-1$ as the induction hypothesis:

$$
H\left(F_{m-1}, z\right)=1+(m-1) z+\frac{(m-1) z-1}{(1-z)^{m-1}}
$$

By the Theorem 3.2,

$$
\begin{gathered}
H\left(F_{m}, z\right)=H\left(F_{m-1}, z\right)+z+\frac{(m-1) z^{2}}{(1-z)^{m}} \\
=1+(m-1) z+\frac{(m-1) z-1}{(1-z)^{m-1}}+z+\frac{(m-1) z^{2}}{(1-z)^{m}} \\
=1+m z+\frac{z(m-1+1)-1}{(1-z)^{m}}
\end{gathered}
$$

therefore, for all $m \geq 2$

$$
H\left(F_{m}, z\right)=1+m z+\frac{m z-1}{(1-z)^{m}}
$$

this completes the proof.

## ACKNOWLEDGMENT

It is my honor and privilege to thank the Scientific and Technological Research Council of Turkey (TÜBİTAK_BIDEB 2235) for financing this manuscript.

## REFERENCES

1. R. P. Stanley, Hilbert Functions of Graded Algebras, Advances in Mathematics 28, pp 57-83, 1978.
2. D. J. Anick, Non-Commutative Graded Algebras and Their Hilbert Series, Journal of Algebra 78, pp 120-140, 1982.
3. V.E. Govorov, Graded algebras, Springer Mathematical notes of the Academy of Sciences of the USSR, Volume 12, Issue 2, pp 552-556, 1972.
4. V.A Ufnarovski, A growth criterion for graphs and algebras defined by words, Math. Notes, 31, pp 238-241, 1982.
5. R. La Scala and S. K. Tiwari, Multigraded Hilbert Series of noncommutative modules, https://arxiv.org/pdf/1705.01083.pdf, 2017.
6. A.Y. Belov, Rationality of Hilbert series of relatively free algebras, Communications of the Moscow Mathematical Society, pp 394-395, 1997.
7. A. Berele, Applications of Belov's theorem to the cocharacter sequence of PI-Algebras, J. Algebra 298, pp 208-214, 2006.
8. A. Berele, Properties of hook Schur functions with applications to PI-Algebras, Adv. Appl. Math. 41, pp 52-75, 2008.
9. V. Drensky. and G.K. Genov, Multiplicities of Schur functions with applications to invariant theory and PI-algebras, C. R. Acad. Bulgare Sci. 57 (3), pp 5-10, 2004.
10. F. Benanti, S. Boumova, V. Drensky, G.K. Genov and P. Koev, Computing with rational symmetric functions and applications to invariant theory and PI-Algebras, Serdica Math. J. 38, pp 137-188, 2012.
11. N. Jacobson, Lie algebras. Interscience Tracts in Pure and Applied Mathematics Number 10, Interscience, New York, 1962.
12. Y. A. Bahturin, Two remarks on varieties of Lie algebras, Mathematical notes of the Academy of Sciences of the USSR, Volume 4, Issue 4, pp 725730, 1968.
13. Y.A. Bahturin, Identical Relations in Lie algebras, Translated from the Russian by Bakhturin, Utrecht: VNU Science Press BV, 1987.
14. V. Drensky, Free Algebras and PI algebras, Springer - Verlag, Singapore, 2000.
15. D. Mumford, Introduction to algebraic geometry, Harvard Univ. Press, Cambridge, Mass, 1997.
16. R. Dangovski, V. Drensky and Ş. Findık, Weitzenböck derivations of free metabelian Lie algebras, Linear Algebra and its Applications 439, pp 3279-329, 2013.
17. R. Dangovski, V. Drensky and Ş. Fındık, Weitzenböck derivations of free metabelian associative algebras, J. Algebra Appl. 16, no. 3, 1750041. 26 pp, 2017.
18. E. Daniyarova, I. Kazatchkov and V. Remeslennikov, Semidomains and metabelian product of metabelian Lie algebras, Journal of Mathematical Sciences, 131(6), pp 6015-6022, 2005.
19. E. Daniyarova, I. Kazatchkov and V. Remeslennikov, Algebraic Geometry Over Free Metabelian Lie Algebras. I. U-Algebras and Universal Classes, Journal of Mathematical Sciences, Vol. 135, No. 5, pp 3292-3310, 2006.
20. E. Daniyarova, I. Kazatchkov and V. Remeslennikov, Algebraic geometry over free metabelian Lie algebra II: Finite field case, Journal of Mathematical Sciences, 135(5), pp 3311-3326, 2006.
21. C. Yongshan and C. Yuqun, Gröbner-Shirshov bases for metabelian Lie algebras, Journal of Algebra 358, pp 143-161, 2012.
22. Ş. Findik, Normal and Normally Outer Automorphisms of Free Metabelian Nilpotent Lie Algebras, Serdica Math. J. 36, pp 171-210, 2010.
23. Ş. Findık, Outer Endomorphisms of Free Metabelian Lie Algebras, Serdica Math. J. 37, pp 261-276, 2011.
24. V. Drensky. and Ş. Findik, Inner and Outer Automorphisms of relatively Free Lie Algebras, C. R. Acad. Bulgare Sci. 64, no. 3, 315-324, 2011.
25. V. Drensky. and Ş. Findik, Inner and Outer Automorphisms of Free Metabelian Nilpotent Lie Algebras, Communications in Algebra, vol. 40 issue12, pp 4389-4403, 2012.
26. L. Gerritzen, Taylor expansion of noncommutative power series with an application to the Hausdorff series, J. Reine Angew. Math. 556, pp 113-125, 2003.
27. V. Kurlin, The Baker-Campbell-Hausdorff formula in the free metabelian Lie algebra, Journal of Lie Theory, 17, pp 525-538, 2007.
28. Michael A. Gauger. On the Classification of Metabelian Lie Algebras, Transactions of the American Mathematical Society, Volume 179, Pp 293-329, 1973.
29. V.A. Artamonov, The Categories of Free Metabelian Groups and Lie Algebras, Commentationes Mathematicae Universitatis Carolinae, Vol. 18, No. 1, pp 143-159, 1977.
30. V. Drensky, Codimensions of T-Ideals and Hilbert Series of Relatively Free Algebras, Journal of Algebra 91, pp 1-17, 1984.
31. V. Drensky, Fixed Algebras of Residually Nilpotent Lie Algebras, Proceedings of the American Mathematical Society Vol. 120, No. 4, pp. 1021-1028, 1994.
